755202

S
i Stop Blocks Kit for CleanSweep

This Stop Block Kit is to be installed on an¥ l‘Plantt-“-,r where extra clearance is needed to prevent row clean-

ers from raising too high with CleanSweep™ installed. See CleanSweep™ Compatibility Guide to deter-
mine whether or not you need the Stop Block Kit.

Parts List 6
i

1. Right Stop Arm (1) 3?

. Left Stop Arm (1) 2

. 5/16 x 1" Bolt (2) 2 1
. 5/16 Nut (2) o

. 5/16 x 3.5” Bolt (1) 4

. 5/16 x 1.75” Bolt (1)

@ Locate this hole on your planter and install
the left stop arm. Then on the other side of
the row unit install the right stop arm.

o bhwWN

Use the 1”7 bolt in most cases to
secure the stop block to the row
unit.

The 1.75” bolt has been provided
for cases where a RUM has been
installed on that row unit.

The 3.5” bolt has been provided
for cases where a Kinze Air Force
Lift bracket has been installed on
the row unit.

Note: Stops are not needed if row mounted
coulters or row cleaners already create a stop
by extending their mounting bracket out be-
tween the face plate and parallel arm stop.

Questions? Check the website: www.precisionplanting.com or call us at 309-925-5050. P TeC1S10n
NG NN - SN NG
955204_01 9/27/2011 1 PLANTING




